

NAME: NELSON-UDU-A. EMM
 DEPARTMENT: PETROLEUM ENGINEERING
 MATRIC NO: 16/PNG03/D16
 COURSE CODE: ENH381

Off Off
 09/10/2018

Assumed Answer

$$\frac{d^2x}{dt^2} + 5\frac{dx}{dt} + 6x = \cos t \quad \dots \text{eqn (1)}$$

$$\text{When } t=0, x=1, \frac{dx}{dt} = 0$$

Using Auxiliary equation method

$$\frac{d^2x}{dt^2} + 5\frac{dx}{dt} + 6x = 0 \quad \dots \text{equation (2)}$$

$$\text{Let } x = Ae^{kt}$$

$$\frac{dx}{dt} = kAe^{kt} \quad \frac{d^2x}{dt^2} = k^2Ae^{kt}$$

$$\frac{d^2x}{dt^2} = k^2Ae^{kt}$$

$$\frac{d^2x}{dt^2} = k^2x$$

$$\text{Subst } \frac{d^2x}{dt^2} \text{ in eqn (2) } \frac{d^2x}{dt^2} \text{ in eqn (2)}$$

$$k^2x + 5kx + 6x = 0$$

dividing through by x

$$k^2 + 5k + 6 = 0 \rightarrow \text{Auxiliary Equation}$$

$$k^2 + 3k + 2k + 6 = 0$$

$$k(k+3) + 2(k+3) = 0$$

$$(k+3)(k+2) = 0$$

$$k = -2 \text{ or } k = -3$$

Hence

$$\text{Soln } y = Ae^{k_1t} + Be^{k_2t}$$

$$\therefore x = Ae^{-2t} + Be^{-3t} \rightarrow \text{Complementary function}$$

for part t

$$x = A \cos t + B \sin t$$

$$\frac{dx}{dt} = -A \sin t + B \cos t$$

$$\frac{d^2x}{dt^2} = -A \cos t - B \sin t$$

from eqn (1)

$$\frac{d^2x}{dt^2} + 5\frac{dx}{dt} + 6x = \cos t$$

$$\text{Subst } \frac{d^2x}{dt^2} = -A \cos t - B \sin t \text{ and } \frac{dx}{dt} = -A \sin t + B \cos t \text{ in eqn (1)}$$

$$x = A \cos t + B \sin t \quad \text{in eqn (1)}$$

$$-(-A \cos t - B \sin t) + 5(-A \sin t + B \cos t) + 6(A \cos t + B \sin t) = \cos t$$

$$= A \cos t + B \sin t - 5A \sin t + 5B \cos t + 6A \cos t + 6B \sin t = \cos t$$

$$= \cos t (A + 5B + 6A) + \sin t (-B + 5B + 6A) = \cos t$$

$$-A + 5B + 6A = 1 \cos t$$

$$-5A + 6B - B = 0 \sin t$$

$$\therefore -A + 5B + 6A = 1$$

$$-5A + 6B - B = 0$$

$$5A + 5B = 1 \quad \dots (i)$$

$$-5A + 5B = 0 \quad \dots (ii)$$

$$10A = 1$$

$$A = \frac{1}{10}$$

$$\text{Subst } A = \frac{1}{10} \text{ into eqn (ii)}$$

$$5(\frac{1}{10}) + 5(B) = 1$$

$$\frac{1}{2} + 5B = 1$$

$$5B = 1 - \frac{1}{2}$$

$$5B = \frac{1}{2}$$

$$B = \frac{1/2}{5}$$

$$B = \frac{1}{10}$$

$$x = \frac{1}{10} \cos t + \frac{1}{10} \sin t \rightarrow \text{Particular Integral (P.I.)}$$

$$\text{G.S.} = \text{C.F.} + \text{P.I.}$$

$$x = Ae^{-2t} + Be^{-3t} + \frac{1}{10} \cos t + \frac{1}{10} \sin t$$

$$\frac{dx}{dt} = -2Ae^{-2t} - 3Be^{-3t} + \frac{1}{10} \sin t + \frac{1}{10} \cos t$$

$$\text{where } x=0.1 \text{ and } \frac{dx}{dt}=0 \text{ at } t=0$$

$$0.1 = Ae^{-2(0)} + Be^{-3(0)} + \frac{1}{10} \cos(0) + \frac{1}{10} \sin(0)$$

$$0.1 = A + B + \frac{1}{10} + 0$$

$$0.1 - \frac{1}{10} = A + B$$

$$A + B = 0 \quad \dots \text{eqn (i)}$$

Also

$$0 = -2Ae^{-2(0)} - 3Be^{-3(0)} - \frac{1}{10} \sin(0) + \frac{1}{10} \cos(0)$$

$$0 = -2A - 3B + \frac{1}{10}$$

$$-\frac{1}{10} = -2A - 3B \quad \dots (ii)$$

Solving eqns (i) and (ii)

$$A + B = 0$$

$$-2A - 3B = -\frac{1}{10} \quad \dots (iii)$$

$$A = -B \quad \dots \text{eqn (iv)}$$

$$\text{Subst eqn (iv) into eqn (iii)}$$

$$-2(-B) - 3B = -\frac{1}{10}$$

NAME: NELSON - UDU - A - ELAH

DEPARTMENT: ~~ENR 381~~ PETROLEUM ENGINEERING

MATRIX NO: 16/ENG07/016

$$-2B - 3B = -\frac{1}{10}$$

$$-B = -\frac{1}{10}$$

$$B = \frac{1}{10}$$

$$A = -\frac{1}{10}$$

$$x = -\frac{1}{10}e^{-2t} + \frac{1}{10}e^{-3t} + \frac{1}{10}\cos t + \frac{1}{10}\sin t$$

$$x = \frac{1}{10}(-e^{-2t} + e^{-3t} + \cos t + \sin t)$$

from the graph: amplitude $k = 0.4$

$$\text{Period } (T) = 14.9 - 8.7 = 6.2 \text{ sec}$$

$$\omega = \frac{2\pi}{T} = \frac{2\pi}{6.2} = 0.1 \text{ rad/s or } \frac{\pi}{3} \text{ rad}$$

a = the value of t for which $\sin t = \cos t$

$$a = 45^\circ \text{ or } \frac{\pi}{4} \text{ rad}$$

In the form $k \sin(t+a)$, the steady state solution is given as

$$0.141 \sin(t + 45^\circ)$$